	Examination : F(Result		4AY 2017			~		
	PRN : 150011000145 Get Result								
		Result She	et						
unic	: ASHIKA K J								
Program	: ASHIKA K J : M A Sanskrit Special (Sah : Government Sanskrit Coll	• •	The	eorv	Prac	tical	1		
Program Exam Centre	: M A Sanskrit Special (Sah : Government Sanskrit Coll	• •	The INT	eory EXT	Prac	tical EXT	GPA	Grade	Resu
Program Exam Centre Course Code	: M A Sanskrit Special (Sah : Government Sanskrit Coll Cou	lege, Tripunithura		-			GPA 3.17	Grade	
Program Exam Centre Course Code	: M A Sanskrit Special (Sah : Government Sanskrit Coll Cou	lege, Tripunithura	INT	EXT	INT	EXT			Resu Passe Passe
Program Exam Centre Course Code SN4SHPCXVI	: M A Sanskrit Special (Sah : Government Sanskrit Coll Cou Sanskrit Poetics VII	lege, Tripunithura urse	INT 3.90	EXT 2.93	INT 	EXT	3.17	В	Passe
Program Exam Centre Course Code SN4SHPCXVI SN4SHPE17	: M A Sanskrit Special (Sah : Government Sanskrit Coll Cou Sanskrit Poetics VII Sankhya and Vedanta	lege, Tripunithura urse	INT 3.90 3.80	EXT 2.93 2.50	INT 	EXT	3.17 2.83	B	Passe
Program Exam Centre Course Code SN4SHPCXVI SN4SHPE17 SN4SHPE18	: M A Sanskrit Special (Sah : Government Sanskrit Coll Cou Sanskrit Poetics VII Sankhya and Vedanta Influence of Sanskrit on Malaya Astrology,Etimology and contrib	lege, Tripunithura urse alam Literature and Criticism pution of Kerala to Sanskrit	INT 3.90 3.80 3.60	EXT 2.93 2.50 3.57	INT 	EXT	3.17 2.83 3.58	B B A	Passe Passe Passe
Course Code SN4SHPCXVI SN4SHPE17 SN4SHPE18 SN4SHPE19	: M A Sanskrit Special (Sah : Government Sanskrit Coll Cou Sanskrit Poetics VII Sankhya and Vedanta Influence of Sanskrit on Malaya Astrology,Etimology and contrib Literature	lege, Tripunithura urse alam Literature and Criticism pution of Kerala to Sanskrit	INT 3.90 3.80 3.60 3.76	EXT 2.93 2.50 3.57 2.83	INT	EXT	3.17 2.83 3.58 3.06	B B A B	Passe Passe Passe Passe
Program Exam Centre Course Code SN4SHPCXVI SN4SHPE17 SN4SHPE18 SN4SHPE19 SN4SHPE20	: M A Sanskrit Special (Sah : Government Sanskrit Coll Cou Sanskrit Poetics VII Sankhya and Vedanta Influence of Sanskrit on Malaya Astrology,Etimology and contrib Literature Reseach Methodology and Textu	lege, Tripunithura urse alam Literature and Criticism pution of Kerala to Sanskrit	INT 3.90 3.80 3.60 3.76 3.88	EXT 2.93 2.50 3.57 2.83 3.23	INT	EXT	3.17 2.83 3.58 3.06 3.39	B B A B B	Passe Passe Passe Passe

	SEMESTER RESULTS									
SEMESTER	CREDIT	SGPA	GRADE	RESULT	CREDIT POINTS	Month & Year of Pass				
SEMESTER I	20	2.85	В	Р	56.96	February 2016				
SEMESTER II	20	2.91	В	Р	58.24	August 2016				
SEMESTER III	20	3.13	В	Р	62.52	January 2017				
SEMESTER IV	20	3.39	В	Р	67.73	May 2017				
FINAL RESULT (CGPA)	80	3.07	B+	Р	245.45	May 2017				
FINAL RESULT			<u> </u>			,				

PRINT

NOTE: The results made available through the web are intended only to provide immediate information to the examinees. This is not a substitute for the original marklists/ grade sheets issued to the candidates. Mahatma Gandhi University reserves the right to update the contents of the web pages without notice. However, discrepancies which may arise due to transmission errors may be informed to the university at email address : support@mgu.ac.in

		Result							
	Examination :	FOURTH SEMESTER PGCSS EXAM		1AY 2017			~		
	PRN : 150011000146								
	Get Result								
		Result She	et						
lame Program	: ATHIRA N V : M A Sanskrit Special (Sahitya)							
Program Exam Centre	: M A Sanskrit Special (: Government Sanskrit (College, Tripunithura	The	eory	Prac	tical	GPA	Grade	Pesu
Program	: M A Sanskrit Special (: Government Sanskrit (The INT	ory EXT	Prac INT	tical EXT	GPA	Grade	Resu
Program Exam Centre Course Code	: M A Sanskrit Special (: Government Sanskrit (College, Tripunithura		1		1	GPA 3.21	Grade	
Program Exam Centre Course Code	: M A Sanskrit Special (: : Government Sanskrit (College, Tripunithura	INT	EXT	INT	EXT			Passe
Program Exam Centre Course Code SN4SHPCXVI	: M A Sanskrit Special (: Government Sanskrit (Sanskrit Poetics VII Sankhya and Vedanta	College, Tripunithura	INT 3.76	EXT 3.03	INT 	EXT	3.21	В	Resu Passe Passe
Program Exam Centre Course Code SN4SHPCXVI SN4SHPE17	: M A Sanskrit Special (: Government Sanskrit (Sanskrit Poetics VII Sankhya and Vedanta Influence of Sanskrit on Mal	College, Tripunithura Course	INT 3.76 3.80	EXT 3.03 2.23	INT 	EXT	3.21 2.62	B	Passe Passe Passe
Program Exam Centre Course Code SN4SHPCXVI SN4SHPE17 SN4SHPE18	: M A Sanskrit Special (: Government Sanskrit (Sanskrit Poetics VII Sankhya and Vedanta Influence of Sanskrit on Mal Astrology,Etimology and cor	College, Tripunithura Course	INT 3.76 3.80 3.53	EXT 3.03 2.23 3.03	INT 	EXT	3.21 2.62 3.16	BBB	Passe
Program Exam Centre Course Code SN4SHPCXVI SN4SHPE17 SN4SHPE18 SN4SHPE19	: M A Sanskrit Special (: Government Sanskrit (Sanskrit Poetics VII Sankhya and Vedanta Influence of Sanskrit on Mal Astrology,Etimology and cor Literature	College, Tripunithura Course	INT 3.76 3.80 3.53 3.70	EXT 3.03 2.23 3.03 2.27	INT	EXT	3.21 2.62 3.16 2.63	B B B B	Passe Passe Passe Passe

	SEMESTER RESULTS									
SEMESTER	CREDIT	SGPA	GRADE	RESULT	CREDIT POINTS	Month & Year of Pass				
SEMESTER I	20	2.4	С	Р	48.04	February 2016				
SEMESTER II	20	2.76	В	Р	55.28	August 2016				
SEMESTER III	20	2.99	В	Р	59.84	January 2017				
SEMESTER IV	20	3.19	В	Р	63.77	May 2017				
FINAL RESULT (CGPA)	80	2.84	В	Р	226.93	May 2017				
`, /	я	R				R				

PRINT

NOTE: The results made available through the web are intended only to provide immediate information to the examinees. This is not a substitute for the original marklists/ grade sheets issued to the candidates. Mahatma Gandhi University reserves the right to update the contents of the web pages without notice. However, discrepancies which may arise due to transmission errors may be informed to the university at email address : support@mgu.ac.in

	Boould								
	Result	-							
	Examination : FOURTH SEMESTER PGCSS EXAM	INATION I	MAY 2017			~			
	PRN : 150011000147								
	Get Result								
	Result Sh	eet							
PRN	: 150011000147								
Name	: THUSHARA K G								
Program	: M A Sanskrit Special (Sahitya)								
Program Exam Centre	: M A Sanskrit Special (Sahitya)	The		Brad	tical	1			
Exam Centre	: M A Sanskrit Special (Sahitya)	The INT	eory	Prac INT	tical	GPA	Grade	Resu	
Exam Centre Course Code	M A Sanskrit Special (Sahitya)Government Sanskrit College, Tripunithura		1			GPA 3.60	Grade	Resul	
Exam Centre Course Code	 M A Sanskrit Special (Sahitya) Government Sanskrit College, Tripunithura Course 	INT	EXT	INT	EXT				
Exam Centre Course Code SN4SHPCXVI	M A Sanskrit Special (Sahitya) Government Sanskrit College, Tripunithura Course Sanskrit Poetics VII	INT 3.90	EXT 3.50	INT 	EXT	3.60	A	Passe	
Exam Centre Course Code SN4SHPCXVI SN4SHPE17	 M A Sanskrit Special (Sahitya) Government Sanskrit College, Tripunithura Course Sanskrit Poetics VII Sankhya and Vedanta 	INT 3.90 3.80	EXT 3.50 2.67	INT 	EXT	3.60 2.95	AB	Passe	
Exam Centre Course Code SN4SHPCXVI SN4SHPE17 SN4SHPE18	 M A Sanskrit Special (Sahitya) Government Sanskrit College, Tripunithura Course Sanskrit Poetics VII Sankhya and Vedanta Influence of Sanskrit on Malayalam Literature and Criticism Astrology,Etimology and contribution of Kerala to Sanskrit 	INT 3.90 3.80 3.75	EXT 3.50 2.67 3.73	INT 	EXT	3.60 2.95 3.74	A B A	Passe Passe Passe	
Exam Centre Course Code SN4SHPCXVI SN4SHPE17 SN4SHPE18 SN4SHPE19	 M A Sanskrit Special (Sahitya) Government Sanskrit College, Tripunithura Course Sanskrit Poetics VII Sankhya and Vedanta Influence of Sanskrit on Malayalam Literature and Criticism Astrology, Etimology and contribution of Kerala to Sanskrit Literature 	INT 3.90 3.80 3.75 3.80	EXT 3.50 2.67 3.73 3.17	INT 	EXT	3.60 2.95 3.74 3.33	A B A B	Passe Passe Passe Passe	
Exam Centre Course Code SN4SHPCXVI SN4SHPE17 SN4SHPE18 SN4SHPE19 SN4SHPE20	 M A Sanskrit Special (Sahitya) Government Sanskrit College, Tripunithura Course Sanskrit Poetics VII Sankhya and Vedanta Influence of Sanskrit on Malayalam Literature and Criticism Astrology,Etimology and contribution of Kerala to Sanskrit Literature Reseach Methodology and Textual Criticism 	INT 3.90 3.80 3.75 3.80 3.80	EXT 3.50 2.67 3.73 3.17 3.00	INT	EXT	3.60 2.95 3.74 3.33 3.22	A B A B B	Passe Passe Passe Passe	

SGPA 2.82	GRADE B	RESULT	CREDIT POINTS	Month & Year of Pass
2.82	В	Р	56.32	
î			50.52	February 2016
3.17	В	Р	63.32	August 2016
3.18	В	Р	63.56	January 2017
3.5	A	Р	69.92	May 2017
3.16	В+	Р	253.12	May 2017
	3.18 3.5	3.18 B 3.5 A	3.18 B P 3.5 A P 3.16 B+ P	3.18 B P 63.56 3.5 A P 69.92 3.16 B+ P 253.12

NOTE: The results made available through the web are intended only to provide immediate information to the examinees. This is not a substitute for the original marklists/ grade sheets issued to the candidates. Mahatma Gandhi University reserves the right to update the contents of the web pages without notice. However, discrepancies which may arise due to transmission errors may be informed to the university at email address : support@mgu.ac.in

OANDHI UA

. .

	Result							
	Examination : FOURTH SEMESTER PGCSS EXAM	INATION N	4AY 2017			~		
	PRN : 150011000148							
	Get Result							
	Result She	et						
PRN Name	: 150011000148 : YESHWANTHI R SHENOI							
-	: M A Sanskrit Special (Sahitya) : Government Sanskrit College, Tripunithura							
Exam Centre	: Government Sanskrit College, Tripunithura	The	ory	Prac	tical	GPA	Grade	Peculi
Exam Centre		The INT	ory EXT	Prac INT	tical EXT	GPA	Grade	Resul
Exam Centre Course Code	: Government Sanskrit College, Tripunithura		-		1	GPA 2.07	Grade C	
Exam Centre Course Code	: Government Sanskrit College, Tripunithura Course	INT	EXT	INT	EXT			Passed
Exam Centre Course Code SN4SHPCXVI	: Government Sanskrit College, Tripunithura Course Sanskrit Poetics VII	INT 3.10	EXT 1.73	INT 	EXT	2.07	с	Passed
Exam Centre Course Code SN4SHPCXVI SN4SHPE17	: Government Sanskrit College, Tripunithura Course Sanskrit Poetics VII Sankhya and Vedanta	INT 3.10 2.67	EXT 1.73 1.43	INT 	EXT	2.07	C	Passed Failed Passed
Exam Centre Course Code SN4SHPCXVI SN4SHPE17 SN4SHPE18	: Government Sanskrit College, Tripunithura Course Sanskrit Poetics VII Sankhya and Vedanta Influence of Sanskrit on Malayalam Literature and Criticism Astrology,Etimology and contribution of Kerala to Sanskrit	INT 3.10 2.67 2.85	EXT 1.73 1.43 1.50	INT	EXT	2.07 0 1.84	C E C	Passed Failed Passed Failed
Exam Centre Course Code SN4SHPCXVI SN4SHPE17 SN4SHPE18 SN4SHPE19	: Government Sanskrit College, Tripunithura Course Sanskrit Poetics VII Sankhya and Vedanta Influence of Sanskrit on Malayalam Literature and Criticism Astrology,Etimology and contribution of Kerala to Sanskrit Literature	INT 3.10 2.67 2.85 2.83	EXT 1.73 1.43 1.50 0.87	INT 	EXT	2.07 0 1.84 0	C E C E	Passed Failed Passed Failed Passed
Course Code SN4SHPCXVI SN4SHPE17 SN4SHPE18 SN4SHPE19 SN4SHPE20	: Government Sanskrit College, Tripunithura Course Sanskrit Poetics VII Sankhya and Vedanta Influence of Sanskrit on Malayalam Literature and Criticism Astrology,Etimology and contribution of Kerala to Sanskrit Literature Reseach Methodology and Textual Criticism	INT 3.10 2.67 2.85 2.83 3.12	EXT 1.73 1.43 1.50 0.87 1.50	INT	EXT	2.07 0 1.84 0 1.91	C E C E C	Result Passed Failed Passed Passed Passed

SEMESTER RESULTS										
SEMESTER	CREDIT	SGPA	GRADE	RESULT	CREDIT POINTS	Month & Year of Pass				
SEMESTER I				F						
SEMESTER II				F						
SEMESTER III				F						
SEMESTER IV				F						

NOTE: The results made available through the web are intended only to provide immediate information to the examinees. This is not a substitute for the original marklists/ grade sheets issued to the candidates. Mahatma Gandhi University reserves the right to update the contents of the web pages without notice. However, discrepancies which may arise due to transmission errors may be informed to the university at email address : support@mgu.ac.in

PRINT